Y3=# 7T Bnh

RMEE

TECHNICAL DATA OF Y3 SERIES

Franme Eris b k. 2 Full load greed : Power Directon | Directon [ Directon Mean sound ) Rotor inertia
reference et ke Rated power in revolutions | Efficiency Sctor line starting| line starting fline pull out [  pressure level Weight Wi?
and size per minute torque ratio [current ratio| torque ratio @1m on no load

NO. Type il ot P°?er Spend 2 i LRT/RLT | LRA/RLA | BDT/RLT Hotes Wehorm *
380V | 400V | 415V kw HP r/min %. Cos® LwdB(A) kg kgm®
1 Y3-somi-2 | 177 | 174 | 168 075 1 2840 76 083 22 6.1 23 67 16 0.00075
2 Y3-80M2-2 | 261 | 248 | 239 1.1 1.5 2840 76.2 0.84 22 6.9 23 67 17 0.0009
3 Y3-908-2 | 346 | 328 | 316 15 2 2850 785 0.84 22 7 23 72 20 0.0012
4 Y3-90L-2 | 485 | 461 | 445 22 3 2855 81 0.85 22 7 2.3 72 23 0.0014
5 ¥3-100L-2 | 6234 | 603 | 581 3 4 2860 826 0.87 22 75 23 76 30 0.0029
6 y3-112m2 | 82 e | 75 4 55 2880 84.2 0.88 22 75 23 77 41 0.0055
7 | Yv3-132s1-2 | 111 | 1053 | 1015 55 75 2900 85.7 0.88 22 75 23 80 575 0.0109
8 |Y3132822 | 149 | 141 | 136 7.5 10 2900 87 0.88 22 75 2:3 80 60.5 0.0126
9 |Y3-180M1-2 | 212 | 202 | 195 11 15 2930 88.4 0.89 22 75 23 86 107 0.0377
10 | Y3-160M2-2 | 286 | 272 | 262 15 20 2930 894 0.89 22 75 23 86 114 0.0499
1 Y3-160L-2 | 347 33 318 185 25 2930 90 09 22 75 23 86 133 0.055
12 | Y3-180M-2 41 39 376 22 30 2940 90.5 0.9 2 7.5 23 89 165 0.075
13 | ¥3-200L1-2 | 554 | 526 | 507 30 40 2950 914 0.9 2 75 23 92 218 0.124
14 | ¥3-200L2-2 | 67.9 | 645 | 622 37 50 2950 92 09 2 75 23 92 230 0.139
15 | Y3-225M2 | 821 78 75.2 45 60 2960 92.5 0.9 2 7.5 23 92 290 0.233
16 | Y3-250M2 | 100 | 948 | 914 55 75 2970 83 09 2 75 23 93 359 0312
17 | Y3-280582 | 135 129 124 75 100 2975 93.6 0.9 2 il 23 94 475 0579
18 | Y3-280M-2 | 160 152 147 90 125 2975 939 0.91 2 71 23 94 510 0675
19 | Y3-31582 | 195 186 179 110 150 2975 94 0.91 1.8 741 22 96 875 1.18
20 | v3-315M2 | 233 222 214 132 180 2975 94.5 0.91 18 T 22 96 963 1.82
21 | ¥3-315L1-2 | 279 265 256 160 220 2975 946 092 18 71 22 99 1010 2.08
22 | Y3-315L2-2 | 348 331 319 200 270 2975 94.8 0.92 18 71 22 99 1128 228
23 | Y3-355M-2 | 433 412 397 250 340 2980 95.2 0.92 16 71 22 103 1900 3
24 | Y3-355L2 | 545 518 | 499 315 430 2980 95.4 092 16 74 22 103 2300 35
25 | Y3-80M1-4 | 157 [ 149 | 144 055 075 1390 71 075 24 52 2.3 58 15 0.0018
26 Y3-80M2-4 205 1.95 1.88 0.75 1 1390 73 0.76 23 6 2.3 58 155 0.0021
27 Y3-90S-4 | 285 | 271 | 261 1.1 1.5 1390 76.2 077 23 6 23 61 19 0.0023
28 Yi-goL-4 | 372 | 354 | 34 15 2 1400 78.5 078 23 6 23 61 23 0.0027
29 | Y3-100L14 | 509 | 49 472 22 1410 81 0.81 23 7 23 64 29 0.0054
30 | ¥3-100L24 | 678 | 639 | 6.16 < 1410 826 0.82 22 7 23 64 31 0.0067
31 | Ya-112m4 | 88 836 | 806 4 55 1435 842 0.82 23 7 23 65 42 0.0095
32 | v313284 | 117 | 112 [ 108 5.5 75 1440 85.7 0.83 23 7 23 71 635 0.0214
33 | ¥3-132m4 | 156 | 148 | 143 75 10 1450 87 0.84 23 7 23 71 72 0.0296
34 | va-160M4 | 225 | 214 | 206 1 15 1460 88.4 0.84 22 7 23 75 110 0.0747
a5 ¥3-160L-4 30 285 275 15 20 1460 894 0.85 22 Fé 23 75 129 0.0918
36 | Y3-180M4 | 363 | 345 | 333 18.5 25 1470 90 0.86 22 75 2.3 76 160 0.139
37 | Yv3-180L-4 | 432 | 408 | 393 22 30 1470 90.5 0.86 22 75 23 76 178 0.158
38 | Y3-200L4 | 576 | 551 | 53.1 30 40 1470 914 0.86 22 72 23 79 228 0.262
39 | Y¥3-22584 | 702 | 667 | 643 37 50 1475 a2 0.87 22 72 23 81 288 0.406
40 | v3-225M4 | 849 | 807 | 778 45 60 1475 92.5 0.87 22 7.2 2.3 81 313 0.469
41 | Y3-250M4 | 103 | 981 | 9486 55 75 1480 93 0.87 22 72 23 83 376 0.66
42 | Y3-280S8-4 | 1383 [ 131 127 75 100 1480 93.6 0.88 22 6.8 23 86 508 1.12
43 | Y3-280M-4 | 165 157 152 90 125 1480 93.9 0.88 22 6.8 23 86 581 164
44 | ¥3-3158-4 | 201 191 184 110 150 1480 94.5 0.88 21 69 22 93 846 31
45 | Y3-315M4 | 240 228 220 132 180 1480 948 0.88 21 69 22 93 940 362
46 | Y3-315L14 | 288 273 264 160 220 1480 94.9 0.89 24 69 22 a7 1044 413
47 | Y3-315L24 | 360 342 329 200 270 1480 94.9 0.89 21 6.9 2.2 97 1162 473
48 | Y3-355M4 | 443 421 406 250 340 1490 952 09 21 6.9 22 101 1700 65
49 | Y3-355L-4 | 559 531 511 315 430 1490 95.2 0.9 24 6.9 22 101 1900 8.2
50 | Y3-80M1-6 [ 1.3 123 | 119 0.37 05 880 62 07 19 47 2 54 15 0.0016
51 | Y3-80M2-6 1.8 1.7 1.64 0.55 0.75 880 65 072 19 47 24 54 16 0.0019
52 ¥3-90S6 | 229 | 218 21 0.75 1 905 69 072 o ] 21 57 20 0.0029
53 Y3-90L-6 | 348 | 302 | 291 1.1 15 905 72 073 2 55 21 57 23 0.0035
54 | Ya-100L-6 4 38 366 15 2 920 76 075 2 55 21 61 29 0.0069
55 | Y3-112M6 | 56 529 5.1 22 935 79 076 2 6.5 21 65 41 0.014
56 | Y¥3-13286 | 74 703 | 678 3 960 g1 076 21 65 21 69 59 0.0286
57 | va-132m16 | 975 | 926 | s9a 4 55 960 82 0.76 21 65 21 69 66 0.0357
58 | Ya-132m2-6 | 129 | 123 [ 118 55 756 960 84 077 21 65 21 69 765 0.0449
59 | v3-160M6 | 172 | 163 | 158 75 10 970 86 077 2 65 21 73 106 0.081
60 | Y3-160L6 | 245 | 233 | 224 11 15 970 875 0.78 2 6.5 21 73 122 0.116
&1 ¥3-180L-6 | 316 30 289 15 20 970 89 0.81 2 7 24 73 167 0207
62 | Y3-200L16 | 386 | 366 | 353 185 25 980 90 0.81 24 7 21 76 236 0.315
63 | Ya-200L2-6 | 447 | 425 41 22 30 980 90 083 2 7 21 76 247 0.36
64 | Y3-225M-6 | 593 | 563 | 543 30 40 980 91.5 0.84 2 7 21 76 287 0.547
65 | Y3-250M-6 71 675 | 651 a7 50 980 92 0.86 21 7 31 78 355 0.843
66 | Y3-280S-6 86 817 | 784 45 60 980 92.5 0.86 24 7 2 80 444 1.39
67 | Y3-280M-6 | 104 | 995 | 959 55 75 980 92.8 0.86 24 7 2 80 498 165
68 | Y¥3-3155-6 | 142 135 130 75 100 985 935 0.86 2 6.7 2 85 859 4.11
69 | Ya-315M6 | 169 161 155 a0 125 985 938 0.86 2 67 2 85 950 478
70 | Y3-315L1-6 | 207 196 189 110 150 985 94 0.86 2 6.7 2 85 1031 5.45
71 | ¥3-315L2-6 | 245 232 224 132 180 985 942 0.87 2 67 2 85 1107 612
72 | Y3-355M1-6 | 292 278 | 268 160 220 990 945 0.88 19 67 2 92 1550 95
73 | Y3-355M2-6 | 365 347 335 200 270 990 945 0.88 19 6.7 2 92 1600 10.4
74 | Y3-355L-6 | 457 434 | 418 250 340 990 94.5 0.88 19 6.7 2 92 1700 124
75 | va-8om1-8 | 083 | 084 [ 08 0.18 025 645 51 061 18 33 19 52 15 0.0025
76 | Y3-80M2-8 | 1.1 11 1.06 025 0.34 645 54 061 18 33 19 52 16 0.003
77 Y¥3-908-8 149 | 141 | 1.36 0.37 05 675 62 061 1.8 4 19 56 20 0.0051
78 ¥3-90L-8 | 217 | 207 | 199 0.55 0.75 680 63 061 18 4 2 56 23 0.0065
79 | Y3-100L1-8 | 243 | 231 [ 222 0.75 1 680 70 067 1.8 4 2 59 29 0.009
80 | ¥3-100L2-8 | 3.36 3.2 3.08 11 15 680 72 069 16 5 2 59 31 0.011
81 | Y3-112M8 | 44 418 | 4.03 15 2 690 74 0.7 18 5 2 61 41 0.0245
82 | v3-1325-8 6 566 | 546 22 710 79 0.71 18 6 2 64 61 0.0314
83 | Y3-132ms8 | 78 741 | 7.5 3 710 80 0.73 1.8 6 2 64 74 0.0395
84 | Ya-160M1-8 | 103 | 976 | 941 4 55 720 81 073 19 6 2 68 965 0.0753
85 | Y3-160M2-8 | 136 | 129 | 125 55 75 720 83 074 19 6 2 68 107 0.0931
86 | Yya-180L-8 | 178 | 169 | 163 75 10 720 855 075 19 6 2 68 128 0.126
87 | Y3-180L-8 | 255 | 242 | 233 11 15 730 87.5 0.75 2 6.5 2 70 169 0.203
88 | Y3-200L-8 | 341 | 324 [ 312 15 20 730 88 076 2 66 2 73 236 0.339
B9 Y3-2255-8 411 39 376 18.5 25 730 90 076 19 6.6 2 73 274 0491
90 | Y3-225M8 | 489 45 434 22 30 730 90.5 078 19 6.6 2 73 290 0.547
a1 ¥3-250M-8 63 602 58.1 30 40 735 91 0.79 18 65 2 75 370 0834
92 | Y3-280S-8 78 738 | M2 a7 50 740 915 0.79 19 6.6 2 76 488 165
93 | Y3-280M-8 94 894 | 861 45 60 740 92 079 19 66 2 76 563 1.93
94 | Y3-3158-8 | 111 106 102 55 75 735 92.8 0.81 1.8 6.6 2 82 852 479
95 | Ya-315M8 | 150 143 138 75 100 735 935 0.81 18 6.2 2 82 923 558
96 | Y3-315L1-8 | 178 169 163 90 125 735 93.8 0.82 1.8 6.4 2 82 1027 6.37
97 | Y3-315L2-8 | 217 | 208 199 110 150 735 94 082 18 64 2 82 1117 723
98 | Y3-355M1-8 | 261 248 | 239 132 180 740 937 0.82 1.8 6.4 2 90 2000 7.9
99 | Y3-355M2-8 | 315 299 288 160 220 740 942 0.82 18 6.4 2 90 2150 10.3
100 | Y3-355L-8 | 387 | 368 355 200 270 740 94.5 0.83 1.8 6.4 2 90 2250 12.3
101 [Y3-100L1-10| 133 | 126 | 122 025 0.34 530 55 052 12 32 17 59 29 0.0057
102 |Y3-100L2-10 | 1.89 18 173 037 05 530 56 053 12 32 17 59 31 0.0073
103 |Y3-112Mi-10| 25 237 | 229 0.55 0.75 540 62 0.54 12 34 17 61 41 0.0101
104 |¥3-112M2-10 33 312 3.01 0.75 1 540 B3 0.55 12 34 17 61 43 0.0123
105 | ¥3-1328-10 | 44 42 4 11 15 550 69 0.55 12 36 17 64 80 0.0274
106 | Y3-132M-10 | 57 5.5 52 15 2 565 71 0.56 12 36 17 64 685 0.0351
107 |Y3-160M1-10| 7.7 73 71 22 575 76 0.57 1.3 4 18 68 108 0.0442
108 |Y3-160M2-10| 102 97 94 3 575 77 0.58 13 4 1.8 68 115 0.0842
108 | y3-180M-10 | 122 | 115 | 114 4 55 580 82 0.61 13 4 18 70 164 0.1041
110 | ¥3-180L-10 | 162 | 154 | 149 55 7.6 580 83 062 13 4 18 70 180 0.1409
111 |Y3-200L1-10| 206 | 195 | 188 7.5 10 580 84 0.66 13 4.5 18 73 219 0.227
112 |va-200L2-10| 30 285 | 275 11 18 580 845 066 13 4.5 18 73 230 0.379
113 |Yv3-225M1-10| 392 | 372 | 359 15 20 580 85.5 068 1.3 4.5 1.8 73 302 0.5489
114 |Y3-225M2-10| 481 | 457 | 444 185 25 580 86 068 13 45 18 73 312 06115
115 | ¥3-280S-10 | 499 | 474 | 457 22 30 585 90.5 0.74 15 52 2 76 495 0.9324
116 |Y3-280M1-10| 677 | 643 62 30 40 585 91 0.74 15 52 2 76 521 1.8447
117 |Y3-280M2-10| 835 | 79.3 | 765 37 50 585 91 0.74 15 5.2 2 76 560 21577
118 | ¥3-3155-10 | 100 95 91 45 60 590 916 0.75 15 6.2 2 82 852 5.3552
119 | Y3-315M10 | 121 115 111 55 75 590 92 075 15 6.2 2 82 903 62384
120 |Y3-315L1-10| 162 154 148 75 100 590 925 0.76 15 58 2 82 1007 71217
121 |Y3-315L2-10( 191 181 175 90 125 590 93 077 15 59 2 82 1100 8.0831
122 |Y3-355M1-10| 230 218 211 110 150 550 932 078 13 6 2 90 1800 10.176
123 |Y3-355M2-10| 275 261 252 132 180 590 93.5 078 13 6 2 90 2000 11,5154
124 | Y3-355L-10 | 334 317 305 160 220 590 93.5 078 1.3 6 2 90 2500 13.7514
125 |Y3-100L1-12| 155 | 147 | 142 0.25 0.34 420 50 0.49 11 28 1.7 59 30 0.0074
126 |v3-100L2-12 | 221 2.1 2,02 0.37 05 425 52 049 14 28 iid 59 32 0.0103
127 |Y3-112mi-12| 301 | 284 | 274 0.55 0.75 435 57 0.49 11 32 17 61 43 0.0126
128 |Y3-13281-12| 36 3.4 33 075 1 440 63 05 11 34 1T 61 58 0.028
129 |Y3-13252-12| 51 49 47 1.1 1.5 450 65 05 11 34 17 64 635 0.0359
130 | y3-132M12 | 67 6.3 6.1 15 2 460 68 05 11 35 1.7 64 74 0.0452
131 | Y3-160M-12 9 85 82 22 3 485 74 05 11 4 18 68 111 0.0861
132 | ¥3-160L-12 | 122 | 1186 | 112 3 4 470 74.5 05 141 4 18 68 132 0.1065
133 [v3-180L1-12| 1441 | 134 | 129 4 55 470 78 0.55 12 4 1.8 70 176 0.1441
134 |Y3-180L2-12| 185 | 176 | 169 55 75 475 79 0.57 12 4 1.8 70 183 0.2322
135 |Y3-200L1-12| 242 23 222 75 10 475 81 058 12 45 18 73 227 0.3877
136 |Y3-225M1-12| 331 | 315 | 303 11 15 480 84 06 12 45 18 73 302 05616
137 |Y3225M2-12| 447 | 424 | 408 15 20 480 85 06 1.2 45 18 73 318 06256
138 | v3-250M-12 | 53 503 | 485 185 25 480 855 062 12 45 18 73 379 09539
139 | v3-280s-12 | 60 57 55 22 30 485 87 0.64 12 45 18 76 498 1.8871
140 | y3-280M-12 | 801 | 761 | 733 30 40 485 875 065 12 45 18 76 512 22074
141 | Y3-3158-12 | 932 | 885 | 853 37 50 485 90 0.67 12 45 15 76 865 54784
142 | ¥3-315M-12 | 112.8 | 107.1 | 1032 45 60 485 905 0.67 12 4.5 15 82 956 6.3819
143 |Y3-315L1-12 | 137.3 | 1305 | 125.8 55 75 485 90.8 0.67 12 4.5 15 82 1023 7.2855
144 |v3:315L2-12| 1869 | 1776 | 1711 75 100 485 91 067 12 45 15 82 1142 82691
145 |Y3-355M1-12| 2123 | 2017 | 1944 90 125 490 92 0.7 12 4.5 1.7 82 1800 10.41
146 |Y3-355M2-12| 2584 | 2454 | 2366 110 150 490 924 0.7 12 4.5 17 90 1920 11.7803
147 | ¥3-355L-12 | 309.4 | 2939 | 2833 132 180 490 92.6 0.7 12 45 1.7 90 2300 14.0677
148 [Y3-112M1-16| 152 | 144 | 139 025 0.34 310 48 047 09 25 16 61 38 0.0285
149 |Y3-112M2-16| 234 | 222 | 214 0.37 05 315 485 047 09 25 16 64 45 0.0366
150 | Ya-132M-16 | 32 3 29 0.55 0.75 320 54 048 0.9 27 16 64 75 0.046
151 |Y3-160M1-16| 3.8 a6 34 0.75 1 340 62 0.48 09 28 16 68 96.5 0.0877
152 |Y3-160M2-16| 54 5.1 49 11 15 345 64 0.48 09 28 16 68 108 0.1084
153 | ¥3-160L-16 | 7.1 6.7 65 1.5 2 345 66 0.48 09 28 16 70 127 0.1467
154 | Y3-180M-16 | 9.4 8.9 86 22 3 350 715 0.49 0.9 g 16 70 156 02364
155 ¥3-180L-16 128 121 117 3 355 72 0.49 09 32 16 73 168 0.3848
166 |[Y3-200L1-16| 164 | 156 18 4 55 355 74 05 09 3z 16 73 237 05718
157 |v3-200L2-16 | 221 21 202 55 75 355 75 05 09 32 16 73 248 0637
158 | ¥3-2255-16 | 284 | 269 26 7.5 10 360 78 0.51 0.9 35 16 73 274 0.9712
159 | ¥3-250M-16 | 394 | 374 | 357 11 15 360 80 0.53 09 3.5 16 76 368 1.9215
160 | Y3-280M-16 | 49.8 | 473 | 456 15 20 360 82 0.55 1 35 16 76 552 22475
161 | ¥3-3155-16 | 576 | 547 | 527 185 25 365 86 0.56 1 35 16 76 855 55781
162 | Y3-315M-16 | 681 | 646 | 62.3 22 30 365 87 0.56 1 35 16 82 936 6.4981
163 |Y¥3-315L1-16| 917 | 871 | 839 a0 40 365 88 0.56 1 35 16 82 1037 7.4181
164 |Y3-315L2-16 | 112 106 102 a7 50 365 88 0.56 1 35 16 82 1120 8.4195
F
DH

D

L
80-132
-
1 )
_ \Fﬂ
N 1 '
S 5 g ° 4/ /
@D
E c B
L
160-355 160-355

FRAME WITH FEET AND END-SHIELD WITH FLANGE(IM B35)

FRAME FLANGE
SIZE POLEs HHHHHHHHHH e EHH
80M 19 40 295

(&

2468 125 625 100 50 6 155 80 10 165 130 200 12 3.6 4 1656 1565 145 220 M6X16
90S 2468 140 70 100 56 24 50 8 20 | ©0 | 10 | 16s | 180 | 200 | 12 | 3B 4 180 1756 165 250 320 M8X19
9oL 2468 140 70 125 56 24 50 8 20 90 10 165 130 200 12 3.6 4 180 175 155 250 345 M8X19
100L 2468 160 80 140 63 28 60 8 24 100 12 215 180 250 145 4 4 205 196 180 270 385 M10X22
112M 2468 190 95 140 70 28 60 8 24 112 12 215 180 250 1456 4 4 230 220 190 300 400 M10X22
132S 2468 216 108 140 89 38 80 10 33 132 12 265 230 300 145 4 4 270 259 210 345 470 M12X28
132M 2468 216 108 178 89 38 80 10 33 132 12 265 230 300 145 4 4 270 259 210 345 510 M12X28
160M 2468 254 127 210 108 42 110 12 37 160 15 300 250 350 185 b5 4 320 315 255 420 615 M16X36
160L 2468 254 127 254 108 42 110 12 37 160 15 300 250 350 185 b5 4 320 315 266 420 660 M16X36
180M 2468 279 139.6 241 121 48 110 14 425 180 15 300 250 350 185 b 4 366 365 280 455 700 M16X36
180L 2468 279 1396 279 121 48 110 14 425 180 15 300 250 350 185 b 4 366 3556 280 455 740 M16X36
200L 2468 318 159 305 133 55 110 16 49 200 19 350 300 400 18.6 b5 4 e | 97 | s | Bk 770 M20X42
225S 48 366 178 286 149 60 140 18 53 2256 19 400 350 450 185 b5 8 435 445 335 560 815 M20X42
225M 2 366 178 311 149 b6 110 16 49 225 19 400 350 450 185 b 8 4356 445 336 560 520 M20X42

468 356 178 311 149 60 140 18 53 225 19 400 350 450 1856 b5 8 435 445 335 560 845 M20X42
250M 2 406 203 349 168 60 140 18 523 250 24 500 450 550 185 b 8 490 485 370 615 920 M20X42
468 406 203 349 168 65 140 18 58 250 24 500 450 550 186 b5 8 490 485 370 615 920 M20X42
280S 2 457 228.5 358 190 65 140 18 58 280 24 500 450 550 1856 b5 8 550 547 410 680 995 M20X42
468 457 228.5 3568 190 75 140 20 67.5 280 24 500 450 550 186 b5 8 550 547 410 680 995 M20X42
280M 2 457 228.5 419 190 65 140 18 58 280 24 500 450 550 186 b5 8 550 547 410 680 1045 M20X42
468 457 2285 419 190 75 140 20 67.5 280 24 500 450 550 185 b5 8 550 547 410 680 1045 M20X42
318S 2 508 254 406 216 65 140 18 58 315 28 600 550 660 24 6 8 635 620 530 845 1185 M20X42

46810 508 254 406 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 1220  M20X42
3156M 2 508 254 457 216 65 140 18 58 315 28 600 550 660 24 6 8 635 620 530 845 1290 M20X42

46810 508 254 457 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 13256 M20X42
316L 2 508 254 508 216 65 140 18 58 315 28 600 550 660 24 6 8 635 620 530 845 1290 M20X42

46810 508 254 508 216 80 170 22 71 315 28 600 550 660 24 6 8 635 620 530 845 13256 M20X42
3556M 2 610 305 560 254 75 140 20 67.5 355 28 740 680 800 24 6 8 730 698 6565 1010 1500 M20X42

46810 610 305 560 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1530 M20X42
3651 2 610 305 630 254 75 140 20 67.5 355 28 740 680 800 24 6 8 730 698 655 1010 1500 M20X42

46810 610 305 630 254 95 170 25 86 355 28 740 680 800 24 6 8 730 698 655 1010 1530 M20X42

B2

R F B

EE A
1

L 7
H80
H90-100
H112-152
H160-180
H200-225

TONLEGRD
2.6
6.8
15. 4
42. 5
84. 2

HELALR ST
2XM20X1.5
2XM25X1.5
2XM35X1.5
2XM40X1.5
2XM50X1.5

H250-280

166. 6

2XM63X1.5

H315

358

2XM63X1.5

QO |=3 [ |C1 | | W | DD

H355

546

2XM63X1.5

DR S

il 7K AR

S RF

il A6} i

3 il 46 i

80

2-4

6204-2RZ

6204-2RZ

90

2-6

6205-2RZ

6206-2RZ

100

2-6

6206—2RZ

6206-2RZ

112

2-6

6306-2RZ

6306-2RZ

132

28

6308—2RZ

6308-2RZ

160

2-6

6309-2RZC3

6309-2RZC3

180

2-6

6311C3

6311C3

200

2-6

6312C3

6312C3

225

2-6

6313C3

6313C3

250

2-6

6314C3

6314C3

280

6314C3

6314C3

4-6

6317C3

6317C3

315

6317C3

6317C3

4-6

NU319C3

6319C3

309

6319C3

6319C3

4-6

NU322C3

NU322C3




